For questions 35-42, complete the second sentence so that it has a similar meaning to the first sentence,
using the word given. Do not change the word given. You must use between two and five words,
including the word given. There is an example at the beginning (0).

Example:

0 Bill said he'd never been to such a good restaurant.
WAS
Bill said ... ioah s i e e it as ndns S A SRS s sope pomsis sqmessipasesassibses he'd ever been to.

WEIT WIA|S T|H|E BIE|S|T RIE[S|T|A|U|R|AIN|T

Write the missing words IN CAPITAL LETTERS in the answer boxes provided.

35 The train reached Edinburgh in three hours.

TOOK

The train e eassmeeses ERNDUCER.
36 Ann has always had a good relationship with her father.

ON

ANN DAS AIWAYS ........oruuerssecessomsasmmmsssmesssamsssassss ossssassssassssssmess sismesrasssassasssnss asas 44411 ILET RS0 with her father.
37 The heavy rainfall caused floods in the area.

: RESULT

There were floods in the area ...... wensriensmasssssssssssnnsinss U heavy rainfall.
38 I'm against banning cars from city centres.

AGREE

ooy » reasssssmssesessemsassommaesmmsssrapssaretsssssassessnensess DANNING cars from city centres.
39 They postponed the match because of the bad weather.

PUT

The match reresssssssrsssermsssssmsensmesenesense DECAUSE Of the bad weather.
40 1 wish I had listened to your advice.

PITY

IS ol a0 o et snins listen to your advice.
41 1 can't really tell you what he is like as [ haven't seen him.

HAVING

I can’t really tell you what he is like .... e it e e e him.

42 At the end of the race he had very little strength left.
HARDLY
At the end of the race .....coureees S R L SRR S AR S A left.




